
Power cord Power plug adapter

AC CORD 3ASL100 240VA 10A SAA
23495124

Power cord

AC CORD VCTF 100V 7A 3P-S
23495214

Power cord

AC CORD SJT 117V 10A 3PVC
13499109

Power cord

CABLE-AC 3P CHINA 10A250V S
13439801

Power cord

CABLE-AC, H05VV 230V 10A KC
1000010999

Power cord

CABLE-AC,3P 117/230V BR 2.5M
1000006571

Power cord

AC-CORD H05VV 230V 10A S
23495125

Power cord

AC CORD H05VV-F 240VE 10A S
13499111

ADAPTER PLUG (100V)
13499209

Accessories

USB cable

CABLE-ASSY,USB2.0 3.0M BK
1000010545

Nut for cylinder

NUT SET,HEXAGON M3 NI 100 PCS.
31109801AS

Pin for auto correcƟon jig

PIN,PARALLEL 6*25 SUS H7
31119115

Material adapter

ZMA-52DC-6
427054599

Adapter rack

ZR-52D
417-51999

Auto correcƟon jig

BASE,CORRECTION JIG CG2013
1000017143

Cylinder for auto correcƟon jig

BUSH,CORRECTION MAGAZINE DWX-51D_01
1000021772

Plate for auto correcƟon jig

SPACER,CORRECTION JIG CG2013
1000017144

Screw for ZV-52D

CAP-SCREW,4*7 SUS CONE POINT
1000018647

Set screw for ZBH-4D

SCREW SET,SET WP M3*3 NI 20 PCS
31199701AS

Pin type material adapter

ZV-52D
417051899

DetecƟon pin

PIN,FAI4 SENSING DWX-50_02
1000009895

Cleaning tool

ZCT-4D
417047599

Milling bur posiƟoner

BASE,TOOL SETTER DWX-4
1000010987

Milling bur holder

ZBH-4D
417037199

Regulator

REGULATOR,AW20-01EH-1-B-X155
1000020240

Fiƫng for regulator

ADAPTER,KQ2H06-01S
1000007413

Regulator bracket B

STAY,REGULATOR DWX-51D
1000013689

Regulator bracket A

STAY,REGULATOR CG2072
1000019177

Screw for regulator bracket

SCREW SET,CAP M4*8 3CBC+PW 20PCS
31049169AS

Hose clamp

CLAMP,CABLE CKS-13-H
31379111

Air hose (1M)

TUBE,UB-0640-20-B(20M)
31258125

Brush

BRUSH,CLEANING 15*185
1000018919

Ferrite core

FILTER(E),SFT-36SN
1000003084

T-handle hex wrench (2.5mm)

TOOL,HEXAGONAL DRIVER 2.5*75 TTYPE
1000013518

Microfiber cleaning cloth

WIPER,ECSAINE 700W 70X120
1000010364

Adapter label set (A to F and #)

LABEL,SET BARCODE 1 CG2013#LA2698
1000017290

Adapter label set (G to Z)

LABEL,SET BARCODE 2 CG2013#LA2699
1000017291

Screwdriver handle

TOOL,DRIVER HANDLE PRC-SBBJ-4
1000020157

Torque sleeve (0.3N.m)

TOOL,TORQUE SLEEVE PRC-SRSL-0.3
1000020156

Hex bit (3.0mm)

TOOL,HEXAGONAL BIT 3*75 BALL
1000019601

Clip for auto correcƟon jig Screw for clipScrew for cylinder

SCREW SET,CAP M3*8 NI 50 PCS.
31049170AS

SPRING,TRAVERSER CG2013
1000017087

SCREW SET,CAP M3*20 NI 20PCS
31049172

Screw for ZMA-52DC

SOCKET,FLANGE 4*8 NI
3000000498

SoŌware CD (RSP-101)

(No service part)

SucƟon hose adapter

ADAPTER,VACUUM HOSE DWX-51D
1000013690

PVC sucƟon hose (2M)

HOSE,DUCT FAI50 2M DWX-51D
1000014969

PP storage box (small)

CASE,TMK-9056 90X56X18
1000012940

PVC sucƟon hose (1M)

HOSE,DUCT FAI50 2M DWX-51D
1000014969

SucƟon hose cuff

ADAPTER,N DUCT CUFFS FAI50
1000013692

Clamp wrench

TOOL,SPANNER CG2055
1000018447

Collet wrench

TOOL,SPANNER DWX-51D
1000015824

Hex screwdriver (1.5mm)

TOOL,HEXAGONAL DRIVER 1.5
1000007504

Setup guide

(No service part)

R1_20200603

JAPAN US/CANADA CHINA KOREA BRAZIL EU UK AUSTRALIA

A

B

C

D

E

F

#

G

H

I

J

K

L

M

N

O

P

Q

R

S

T

U

V

W

X

Y

Z

R1-171227

Setup Guide
This guide describes the setup tasks and important 

conditions about the installation site that must be 

met in order to enable use of this machine.

For the latest information regarding this machine (including manuals),  

see the DGSHAPE Corporation website (http://www.dgshape.com/).

https://dgastore.rolanddga.com/cable-assy-usb2-0-3-0m-bk-1000010545
https://dgastore.rolanddga.com/base-correction-jig-cg2013-1000017143
https://dgastore.rolanddga.com/pin-parallel-6x25-sus-h7-31119115
https://dgastore.rolanddga.com/brush-cleaning-15x185-1000018919
https://dgastore.rolanddga.com/tube-ub-0640-20-b-20m-31258125
https://dgastore.rolanddga.com/stay-regulator-dwx-51d-1000013689
https://dgastore.rolanddga.com/stay-regulator-cg2072-1000019177
https://dgastore.rolanddga.com/adapter-kq2h06-01s-1000007413
https://dgastore.rolanddga.com/socket-flange-4x8-ni-3000000498
https://dgastore.rolanddga.com/cap-screw-4x7-sus-cone-point-1000018647
https://dgastore.rolanddga.com/screw-set-set-wp-m3x3-ni-20-pcs-31199701as
https://dgastore.rolanddga.com/base-tool-setter-dwx-4-1000010987
https://dgastore.rolanddga.com/pin-fai4-sensing-dwx-50_02-1000009895
https://dgastore.rolanddga.com/tool-hexagonal-driver-2-5x75-ttype-1000013518
https://dgastore.rolanddga.com/product/hose-duct-fai50-2m-dwx-51d
https://dgastore.rolanddga.com/product/hose-duct-fai50-2m-dwx-51d
https://dgastore.rolanddga.com/tool-hexagonal-bit-3x75-ball-1000019601
https://dgastore.rolanddga.com/disc-adapter-rack-zr--52d
https://dgastore.rolanddga.com/wiper-ecsaine-700w-70x120-1000010364
https://rolanddga.sharepoint.com/sites/dealers/SupportDocumentation/Forms/AllItems.aspx?id=%2Fsites%2Fdealers%2FSupportDocumentation%2FRSP%2D098a%2Ezip&parent=%2Fsites%2Fdealers%2FSupportDocumentation&p=true&ga=1
https://rolanddga.sharepoint.com/sites/dealers/SupportDocumentation/Forms/AllItems.aspx?id=%2Fsites%2Fdealers%2FSupportDocumentation%2FDWX%2D52D%20Setup%20Guide%2Epdf&parent=%2Fsites%2Fdealers%2FSupportDocumentation&p=true&ga=1
https://dgastore.rolanddga.com/regulator-aw20-01eh-1-b-x155-1000020240
https://dgastore.rolanddga.com/clamp-cable-cks-13-h-cx-500-400-300-31379111
https://dgastore.rolanddga.com/disc-adapter-6-pack-zma--52dc--6
https://dgastore.rolanddga.com/pin-type-material-adapter-zv--52d
https://dgastore.rolanddga.com/cleaning-tool-for-dwx-52dc-zct--4d
https://dgastore.rolanddga.com/tool-spanner-dwx-51d-1000015824
https://dgastore.rolanddga.com/tool-hexagonal-driver-1-5-1000007504
https://dgastore.rolanddga.com/tool-driver-handle-prc-h02-1000020157
https://dgastore.rolanddga.com/tool-torque-sleeve-prc-srsl-0-3-1000020156
https://dgastore.rolanddga.com/label-set-barcode-1-cg2013-11-la2698-1000017290
https://dgastore.rolanddga.com/label-set-barcode-2-cg2013-11-la2699-1000017291



